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BAfE H : 7H28H -29H 6, 4417 —RK-/3—=72 36— /L-Apa—s 7L —
o= R AEBFRE T B BIER 354
NEfr % F 4 & +/—  Total out in 1R out in 2R
1 Ew -3 -3 69 34 35 69
2 [ REHIHE  K5rH-3 -2 70 35 35 70
ISEIROND) el d-3 -2 70 35 35 70
4 KK $n3 H B -3 -1 71 35 36 71
5 Wl #iE HiZK -3 +0 72 37 35 72
TrHE e aasf-1 +0 72 36 36 72
KA FIE THHL AR -3 +0 72 35 37 72
8 thzm MR b2 +1 73 37 36 73
N /N -2 +2 74 41 33 74
tE HETY R -2 +2 74 39 35 74
SR RS M -3 +2 74 37 37 74
12 fhH 2% JH 7 -3 +3 75 40 35 75
DRI g A3 +3 75 39 36 75
BA FOV RorH-3 +3 75 38 37 175
ek EE e -3 +3 75 38 37 75
R Y H &2 -1 +3 75 38 37 75
Rk BHE -3 +3 75 37 38 175
a R bl i 1 e +3 75 36 39 75
19 &)1 sy FAiAE -1 +4 76 38 38 76
My PR —FE$-3 +4 76 38 38 76
F)IL 300 f&iH-2 +4 76 35 41 76
22 ik WETY GRERAAHEH-3  +5 77 40 37 77
23 SE)I B J&#)11$-3 +6 78 38 40 78
R AEAR A #5252 +6 78 37 41 78
25 A B 8o -3 +7 79 39 40 79
26 Bk MRS J -3 +8 80 41 39 80
] =35 -1 +8 80 41 39 80
il il f-3 +38 80 41 39 80 LLE Tl
Alg 2TY B H-2 +8 80 36 44 80
30 Hb) FEwe o F-2 +9 81 38 43 81
31 A SRR )1 -2 +10 82 40 42 82
32tk L THREF-1 +11 83 42 41 83
aK FEA £ ) +11 83 41 42 83
e 2y S -2 +11 83 39 44 83
35 KN fier -1 +20 92 45 47 92
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